EARAROBREBRT —5 XN—ZXBISH—F

2021512868 (B) 7EIKIR5H

W 2% C 11— YS5R 2% ‘(fﬁl £ ‘[%EH%FEEH - | & 13000 FE
[AE%) 1 &:500,00 M ~ 2%&:175,000  337%:100,000 4 3#&:50,000H . 5 3&:25,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
1 )| IAY VAR Y Y2 o2 %ﬁ%ﬁ&i 1(2_2)5 6-3-3-2 [39.0| - 4 (4+720) z%:g? GKiR)
RiIAYVTSwya BIAYVYIUN SIERUS
[T 2 | BB 1:22.8 1-1-1-1 | 39.7| - 1 412 | =FH=E (KGR)
7 4| BYINY e 5.0 (' 3/8) 8 | W) FTIVF
RiVILN=RF—bt #:#r¥20-V FKBUS
= to2 | B 1:23.2 4-2-2-3 |39.9| - 2 429 | FENR (KR
3 6 D/V=VE 54.0 2172 (-q) |EEEE
RIAYVTSwya 8:FIN [STnke]
E B2 | HER 1:23.5 11-10-10-7 | 38.7 | — 7 | 409 |EBER (KR
4|8 m|Tyy+ 54.0 @) @) | @) MmcC
R:N—EYIv— B:UYIUVST KEHUS
\ . 82 | AWhE 1:23.6 9-9-8-6 [39.0| — | 10 | 420 |EREH3LE (BEME)
5 3| VUIRY— 54.0 (/4) “2) BT
RiR—ANR B:7FUdy kRNU— =i e
Y o LUZSEES : -4-4- - TR —  (BEE)
6179 |YFN=TIL—F 20 (17'2,57’% a4 1399 } (4—348 M
RiUFVF4—X #B:RU—vrO0-—-X == 7%
> =R 42 | fAHE 1:24.3 7-6-5-5 | 40.1| — 8 444 | EREHSLE (EXRE)
7/8[10) TAF—SVE 5.0 @ o | EEEE
RIN—ANR B:TSUUFvET Blligin
=\ 3ps = st 2 | BEZIE 1:24.4 10-11-11-10/ 38.9 | — 6 | 422 |BRAS (KR
gl111|7YYyrHo3>3 54.0 ) ) | _B) Fangis
RIRVIRATAwI DA UT— B:VILIN—=X=)b bk e
N LIRSS, : -7-7- - Al @R
97| g | TIFr4O—X it 2 i 1(.12;12.)5 8-7-7-9 | 40.1 9 :13;) ﬁ;@%ﬁf
RNRMOD B:RA—LvrZH hE KE
o 2 | BRRE 1:25.3 3-5-6-8 |41.3| — 5 | 451 |#EFEE— (KR)
EH 7| Tox—URY 280 A oy | Tutsys
RiALVavR—5— B:STNIVT BE T
~ A 4t 2 | PIERIEMR 1:26.3 2-7-9-11 | 41.7| - 11 | 408 |#E%AKEBRI (KR
1|5|5|b—>ELT .0 ® o |
R:7ZRIAVL—Y B:F4—TS59=— BT 7—L
@ 1—F—&RIEL
13—7— 4,5,7,6,9,2,10,8,3,1,11
20— — 4,6,2,9,7,10, (5,8),3,11,1
30—7— 4,6,2,9,10,7,8,3,5,11,1
43—F— 4,2,6,9,10,3,11,7,8,1,5
o ILRE
BB 2 8804 JA R 2-4 400/ % 3E 2-4 1,110 3EE 2-4-6 1,050
B B 2 1509 2-6 310 5 E 2-4 1,070 3EH 2-4-6 8,320
4 110 4-6 230 Ba 2-4 3,100H
6 110M9

ABIC OV TRUTEREERRODDZE. THRIIZEL.




